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This is Roboto with Overpass for the radical signs and STIXGeneral for the tensor product.

Testing. Testing. Brown foxes quickly jump over dazzling does and harts. This document

shows an example of mathfont in action. Unfortunately, there are many more equations

in the world than I have space for here. Nevertheless, I hope I hit some of the highlights.

Happy TEXing!
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Cardano’s Formula/Cubic Formula
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Einstein’s Field Equation (General Relativity)
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First Isomorphism Theorem
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Gauss-Bonnet Formula
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Maxwell’s Equations
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Michaelis-Menten Model
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Navier-Stokes Equation

∂

∂t
(ρu) +

∆
• (ρu ⊗ u) = −

∆
p̄ + μ

∆2u

+
1

3
μ
∆
(
∆
• u) + ρg

Quadratic Formula
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Ramanujan’s Approximation for Γ
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Residue Theorem

1

2iπ ∫γ f(z) dz =
n

∑
k =1

Resak (f)

Riemann Zeta Function
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Schrodinger Equation
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Lorentz Transformation (Special Relativity)
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